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$=10,000, K=9,500, r=0.1, T=0.25, 0=0.50|11, d1=0.43022} d2=0.18020|LC}.

ln{ 10,000 )—(D.l + Uf_ ]>< 0.25
d. = 9,500 —— =(.4302
' 0.5v0.25

dr» =0.4302—-0.5v0.25=0.1802

dg|n E2EH N(d1)=0.66652F N(d2)=0.57150|C}.
N0.4302) =0.6664+0.02(0.6700 — 0.6664) = 0.6665
N(0.1802) =0.5714+0.02(0.5753 —0.5714) =0.5715
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=2aMo| 7tA 2 1,370&0|LC}.
C'=10.000 < 0.6665—9.500e %1 7%*® % 0.5715=1.370
N(-0.4302)=0.33350| 11 N(-0.1802)=0.42850|2 2 =2 Mo| JtH <2 6352 0|LC}.

P=9.500e" %1702 5% 0.4285 — 10.000 x< 0.3335 = 637
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P+5=635+10.000 = C+ Ke T =1.370+9.500e%17%» =10.635
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S = 10,000
K = 12,000
T=1

Question:
r = 0.03

o=20.3

O 7tA & H5}et.



Answer:

di1 = -0.3577, d2 = -0.65770| 12 N(d1) = 0.3603, N(d2)=0.25540| L},

=258 Z2|0|/g2 629¢0|LC}.
('=10.000 % 0.3603—12.000e %03 < 0.2554 = 629
N(-d1)=0.63971} N(-d2)=0.74460|0 2 E2 M m2|0|YL 2,274 0|LC}.

=—10.000< 0.6397 +12.000e~ 993 < 0.7446 = 2.27
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(exponential-weight moving average(EWMA) model)

o; =(1=A)ri_y+Ao;_,4 (12.18)
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